
 
 

 

L.2.1.F- Test 1C 

 Multiple Choice 

Identify the choice that best completes the statement or answers the question. 

 1.

  

Which answer shows a way to expand the sentence below and not change the meaning? 

 

An eagle is flying. 

a. An eagle plays with his friend in the sky. c. An eagle and a condor are fighting in the sky. 

b. A hawk chases an eagle and flies away in the sky d. A bald eagle is flying high in the sky at sunset. 

  

 2.

  

Combine the two small sentences into one bigger sentence: 

 

The T-Rex roared.  The T-Rex chased the small dinosaur away from her eggs. 

a. The small dinosaur was chased away by the T-

Rex. 

c. The T-Rex chased the small dinosaur away from 

her eggs, but the T-Rex roared. 

b. The small dinosaur roared and was chased away 

from the T-Rex. 

d. The T-Rex roared and chased the small dinosaur 

away from her eggs. 

  

 3.

  

Which answer shows a way to expand the sentence below without changing the meaning? 

 

The cat sleeps on the porch. 

a. The boy pets the cat that is sleeping. c. The cat plays with its toy on the porch. 

b. The fat cat sleeps on the porch in the morning. d. The cat sleeps on the chair. 

  

 4.

  

Which answer shows how to combine the two short sentences below  into one long sentence.  

 

Scooby and Shaggy ate hamburgers.  Scooby and Shaggy ate ice cream sundaes. 

a. Scooby and Shaggy ate hamburgers and ice cream 

sundaes. 

b. They ate hamburgers and ice cream sundaes. 

  

 5.

  

Which answer shows how you can move the words around in the sentence below and not change the meaning? 

 

The wolf hunted its prey in the forest. 

a. The prey hunted the wolf in the forest. b. In the forest, the wolf hunted its prey. 

  

 6.

  

Which answer shows a way to move the words around in the sentence below and not change the meaning? 

 

There are weeds growing in the flower garden. 

a. In the flower garden there are weeds growing. b. The garden has growing flowers and there are 

weeds. 

  

 7.

  

Choose the best way to end this sentence below: 

 

Jill and Sally went to the zoo ____________________ 

a. but they saw lions. c. and they saw lions. 

b. and they fell asleep. d. or they saw lions 

  

 8. Which answer shows a way to end the sentence below: 



 

 

Answer 1: D 

Answer 2: D 

Answer 3: B 

Answer 4: A 

Answer 5: B 

Answer 6: A 

Answer 7: C 

Answer 8: D 

Answer 9: D 

Answer 10: A 

 

   

My family went to Roaring Springs ____________________________ 

a. and I read a book at the library. c. but we did all the water slides. 

b. or we did all the water slides d. and we did all the water slides! 

  

 9.

  

Choose the answer that shows a complete sentence. 

a. The girl went c. The birthday girl 

b. The girl d. The girl went to the birthday party. 

  

10.  Which answer shows a good beginning to the sentence below: 

________________ and we laughed really hard. 

a. Julie told us a great joke c. I ate lunch 

b. Julie walked to my house d. The movie was really scary 

  


